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150,000, 000& 150,000
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& 4,063
= 1,080
HEND SHEMEELNL(T/FSHE)(RBAMY 1,428,571 1,428,570 1
)
& 1,128,571
= 300,000
401 Al HI L £ 0HHI 1,428,571 1,428,570 1
= 1,128,571
= 300,000
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220l & J|=&C 70,000 160,000 A 90,000
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— Y47 Z3ot=HMaE 2eli
132,000, 000& =1 132,000
- Y48 BBALHAT B2
68,000,000 » 14 68,000
St=2201 BTL U= (=24l) 3,217,000 3,217,000 0
= 2,205,000
[ia 1,012,000
402 QI2H X201 M 3,217,000 3,217,000 0
= 2,205,000
s 1,012,000
03 212t & AFH HI 3,217,000 3,217,000 0
O ot=2)1 BTL 2= 3,217,000, 000& 3,217,000
= 2,205,000
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= 457,000
s 457,000
03 Al 2 THHI 8,352 1,440 6,912
CEANE HEAE 204
1,160,000,000& * 0.72% 8,352
= 4,176
fia 4,176
HE2LAZH (=T AL L) 27,780 28,220 A 440
Jl2Zl 27,780 28,220 AN440
23 /aEE 27,780 28,220 A 440
201 Let2d] 15,460 15,460 0
01 At 22l 13,660 13,660 0
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